Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Module-
Draw the connection between processor and memory and mehtlon the functions of each
component in the connection, : (07 Marks)
What is the function of an assembler directive? Give two exarnples of assembler directives
used for the reservation of’1 memory locations for vanables state their functions. (05 Marks)
With the help of su1table examples illustrate encoding of machine instructions. (08 Marks)

OR
Explain how the following typical mstructlons can be executed with relevant steps:
MOVE ~NUMI, R2 d
ADD- R3, NUM2 (05 Marks)

Explain Big-Endian and Little-Endian. method of byte addressmg with an example.(07 Marks)

Explain shift and rotate operatlons Wlth example. g, (08 Marks)
" Module-2

Explain in brief with the help of diagram the worklng of daisy cham w1th multlple priority

levels and multiple devices in each level. , (10 Marks)

With a block diagram, explain how the printeris mterfaced to processor. (05 Marks)

Briefly discuss the main phases involved in the operation of SCSI bus. (05 Marks)

Define and explain interrupt nesting, (05 Marks)

What is bus arbitration? Explain (08 Marks)

(07 Marks)

(10 Marks)

Briefly explain any four non-volatile memory concepts (05 Marks)

."Calculate the average access time experienced by a processor if a cache bit rate is 0.88 , miss

penalty is 0.015 milliseconds and ceclme access time 1s 10 microseconds. (05 Marks)
Explain the working of 16 mega byte DRAM chip configured as 1Mx16 memory chip.

: (10 Marks)

Show with diagram the memory hierarchy with respect to speed, size and cost. (05 Marks)

Define : (i) Hit rate (i1) Miss rate (iii) Miss penalty (05 Marks)

\ Module-4

Write a note on fast adders.. (05 Marks)

Discuss Booth algorithm by multiplying the number —13 and +11 (08 Marks)

Illustrate . the steps for non-restoring ‘division algorithm on the following data

dividend=1000 divisor=11. (07 Marks)
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OR
Write the logic diagram of 4-bit carry lookahead adder “Explain the operation. (10 Marks)
Explain bit pair recording technique by multiplying the numbers +13 and— 6 (06 Marks)
Differentiate between restoring and non—resg,@qrimg division. ; (04 Marks)

What is pipelining? Explain the basisconcept of pipeline performance with neat sketch.

; . g (08 Marks)
Explain with neat diagram, microprogrammed control method for design of control unit and
write the micro routine for the\iﬁsﬁ%nétion branch < 0. Y : (08 Marks)

Differentiate between hardwfré‘aﬁ@ﬁd microprogrammed control unit. (04 Marks)
e A

k

4 OR N
What is the purpose ‘of ‘control unit? With neat’ sketches, explain the organization of
hardwired control unit‘in detail. 4 (10 Marks)
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